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O1.2et=24] 1,520
“RASY LB ABH (RY)
438 9,120,000& - J1& 9,600,000&= A48()
—HNUITAIALE Lpt=FH| 2,000, 000& = 2,000
Ob5. =&l A228

23 2,052,000& - J1E 2,280,000&= N228

O6. 8=z 1,000
-HE2E JUIgR=
Z3 1,830,000 - JI& 830,000&= 1,000
18,266 18,841 AB75102 232 VANGYSS
O2.¢9&Hl N275
-22J1(82)
23 2,476,000& - JI& 2,751,000& = VAVYSS
O3. A2 ZHISXIHI ()
23 2,790,000& - J1& 3,090,000&= 2300
¥ ESFSH 10,706 10,532 174
405 XHotF =l 10,706 10,532 174
10,706 10,532 17401 KA SSFHSHI 174
O S EFHSHI(EL)
23 10,406,000& - JIE 10,532,000& = N 126
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= A T0ls
g § i%iiﬁ@HHmm%) chol M)
S IS B = 2 L N ) Off &4 JIE O &kl Hlns2 &= 2 A
OMRE My 7Y 200,000& =1J= 200
OARE oAXt 7 100, 000& = 1J= 100
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